
35

40

45

50

60 70 80
company7

co
m

pa
ny

9

Est. mean of
company10

(40, 42]

(42, 44]

(44, 46]

(46, 48]

(48, 50]

(50, 52]

(52, 54]

(54, 56]

(56, 58]

35

40

45

50

55

60

company10

Test for interaction

effect using

linear regression:

p = 0.0211

44

48

52

35 40 45 50
company9

E
st

. m
ea

n 
of

 c
om

pa
ny

10

company7
(deciles)

63.125 (10 %)

65 (20 %)

66.375 (30 %)

67.375 (40 %)

68.625 (50 %)

70 (60 %)

73.5 (70 %)

78.9 (80 %)

81.125 (90 %)

company7 AND company9

60

70

80

40 50 60
company4

co
m

pa
ny

7

Est. mean of
company10

(38, 40]

(40, 42]

(42, 44]

(44, 46]

(46, 48]

(48, 50]

(50, 52]

(52, 54]

(54, 56]

35

40

45

50

55

60
company10

Test for interaction

effect using

linear regression:

p = 0.0018
40

45

50

55

65 70 75 80
company7

E
st

. m
ea

n 
of

 c
om

pa
ny

10

company4
(deciles)

39.375 (10 %)

40.625 (20 %)

42 (30 %)

43 (40 %)

43.9375 (50 %)

45.25 (60 %)

46.7875 (70 %)

50.125 (80 %)

55.125 (90 %)

company4 AND company7


